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1. Options shown in green color with a tick icon are correct
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Q1 36 543X 108 3T H. T .Faaw grem?
The HCF of 36, 54 and 108 is:
Ans X' 1.9
X212
X36
v 218

Q2 Fuw, 1 sl frm & v &% 3w F Aer| A & W gEH - 4T o, R
& oI FHE - 6T o1 3R 0N 0 F 9w an | F % FF a7 e s
um?

Tapan, Ravi and Trisha shared a cake. Tapan had % of it, Trisha had g of it and Ravi had
the rest. What was Ravi’s share of the cake?

Ans 1
vi =
> H
X 3
X a

= N 9

@* gl Ht wrep e Tt # e F=r e
What is the mean of first hundred natural numbers?
Ans X' 1.51.5
M251
v'3505
X 450

Q4 T FI T A TF 4567 AT st A s &
AV 3awar #l O Tew S wEw F=4 geie

A natural number, when divided by 4, 5, 6 or 7, leaves a remainder of 3 in each case.
What is the smallest of all such numbers?

Ans X1 843
X 2213
V'3 423




X 4 63

Q5 3 R F 9IS W A WA ¥ T FAET g

DS

A B C D
Select the figure which does NOT belong to the group.

QDO

CcC D
Ans xlD
X2 A
v
X4+B

Q.6 afe 7T g2 wet 3 fore ofrerar & &1 & § 3R Ta et 7 16 FFqC R AT &,
3R 35 7= Frar -y 8 2 w1 30 € 3iR ve e # 24 Frgu AR Fa L s
FRTA TR

If a young son works quickly for 2 hours and prepares 16 items in a day, and his old father
works slowly for 8 hours and prepares 24 items in a day, which of the following is true?

Ans " g &I Tt 3O B

The son has more energy.

2 arAT & ATFT Th TATA g
Both have equal power.

o gt T F=1T T A B
Both have equal energy.
v g arfda #feF 7

The son has more power.

Q.7 T FEFSA WA H, T goiagiet 5.0 x 10~ m Rrsam Hr Fwam 7 2.2 x 10° my/s a1fe
W T § | Ao faega urr & ¢ (ege smaer= 1.6 x 1072 )

In a hydrogen atom, an electron moves in an orbit of radius 5.0 x 10™**m with a speed of
2.2 x 10° m/s. What is the equivalent current? (Electronic charge = 1.6 x 10~ C)

Ans  X'1.0.112 mA
X 2112 mA
V'3 1.12mA
X 411.2mA

Q8 =3 ¥ fFE T F T T HINAT TE; 2
The square root of which of the following numbers is irrational?
Ans o 1. 6560
X< 23969
< 31764
X 4 5625




Q.9 & ¢ mgfy A T gdv-oy o afy R Ter e At @ an

~
\

LLLLLL L7

Select the correct mirror image of the given figure if the mirror is placed horizontally as
shown.

£
\

Ans

RIS




Q.10 eI (mitosis) & =T F AW T, e i fenfaa ¥« & qorgE
e W@ | e @ &

Name the stage of mitosis during which the chromosomes of a dividing cell lies at the
equatorial plate?

Ans m
X L o
Anaphase

e

. Metaphase
11 e

. Prophase

[xciie e
Telophase

v

X3

X 4

O &y 5 AT H W eI FEA F ThA H

3, 12 21612

Select the number missing from the given series.

P —

3,12, 21612
ans X 1149
X 2200
V'3 147
X 4150

Q.12 dr IeEH & FW WV, Th T HT 3eaidal  HI0T 30° oAT| ST 45 HeX F=r
or 3R SerEEET qur eleR & @ aifaet gt 40V 3 Hiex ol woewiH $ T
Fraetr ofr?

From the top of a platform, the angle of elevation of a tower was 30°. The tower was 45 m

high and the horizontal distance between the platform and the tower was 40v3 m. What
was the height of the platform?

Ans 453 #Hrex
X1
45y3m
V> 5 #HreT
S5m

x3_4o:¢nu
40m
420\/534121

20v3m

X




QB & 715 IFfy F AT H FAA aron W WhAtaT I

Problem Figure
-
O
Answer Figures
:o :o V| [V
A V| o]lo
A B C D

Choose the correct water image of the given figure.

Problem Figure

5

Answer Figures

O O \V
>A >v O
A B
Ans xlD

v2B

X3 A

X4+C

[o]<

Q.14 el T F TART A & fovw Fafaf@a F & frg uftar $r aifa g et
g

Which of the following processes will take place the slowest for the same quantity of
liquid?

Ans x . W
Boiling
arsqreRoT
| Evaporation
TaAT
| Condensation
fears

Freezing

V>

X3

X 4

Q.15 3 T THiEAHT IREAT e #AT F s R arer gl ARAT
e i 2 3T Wy & a¥ 2016 7 I ITateT Fiider @ o

Who is the first Indian player to score a century in his debut One day International Cricket
match? The said player achieved this feat in 2016.




X 2 ? =
Hardik Pandya
X 3 ;
Jayant Yadav
. 0T AT
Karun Nair

Q.16 3/ 3ccR-HTpic & TUF HY S & 71§ T HHfy F1 T o qfafaa g

s

b
P4

Select the Answer Figure that is the correct water image of the given Problem Figure.

Problem Figure

b

Answer Figures

b 44 P

A B c D
Ans KlB

X2 A

X3C

Q.17 Frafof@a # & Fa & 39T TEfaF Tt & fgga =i # el
AT ?
Which of the following devices converts Chemical energy into Electrical energy?

Ans " ﬁa;gr—r aer
Electric cell
X 2 3
Electric heater
3. g-a-{
Hair dryer
X 4 ﬁ@?fo q@r

Electric fan

X

Q.18 ﬁmﬁf@aﬁﬁa&hmaﬁﬁmaﬁmmﬁ#éﬂ-mﬁ
g T 87

Which of the following elements replaced eka-Aluminium in Mendeleev’s Periodic
Table?

An m

° v
Gallium
R Erir-s

Scandium

X 2




X3 ST
Germanium
x4 AEAT D

Titanium

1 Fger F gAA TH aar 2
A computer always has a:
S

1.
Keyboard

X 3
Mouse
TP F1E

X 4
Graphics card

Q20 AT & & +ia & #iifds TR & Hr T Fgarar ¥ 2
Which of the following physical quantity measures the rate of work done?

Ans xl gol

Force

FAT

' Energy

vz ATt
Power

x o T

Momentum

X2

Q.21 gawr FHas, Hiow www, T I 3R el Javssy o el & frw @
ST # o g & e Forer 872

These regional teams: Dabang Mumbai, Kalinga Lancers, Ranchi Rays and Delhi
Waveriders play against each other in which sports league competition?

Ans . sf3ae fATT er
Indian Premier League
7> grehr 3f3ar T
Hockey India League
o IAT3CS drEhedlol Tolldd
United Basketball Alliance
, Ot eSSy olrer
Pro Kabaddi League

X

0% arEEl Yo HAT
Hydra reproduces by:




Ans

' 5g faEsa @
Multiple fission

2 AL AEET g@RT
Binary fission

3. s SR
Fragmentation

4. w m
Budding

X

Q.23

Ans

I H 3R g A gr, TeaA, uf & ge Fr few F 45° gk 8, ok R
ot F g§ #r fada faw # 135° 3k R g adr Fr ge & fww 7 180°
T ¥ 3nf T, Rew feer # ik dwd g @ 2

Facing North, Aishwarya turns 45° clockwise, then 135° anticlockwise and then 180°
clockwise. Which direction is she is facing now?

X1 gfgyor
South
CISSLe

X2
North

gfeaH
West

v &3 c!\é'
East

X 3

Q.24

Ans

DWT : GZW : QPM :
DWT:GZW :QPM:__
X 1LPST
v 2 TSP
X 3 TPS
X 4 STP

Q.25

TF W eAaas far w3k e S s i & el
g fafea & /2

a&:
T wiftreRTor o wivo & off B a7 yar & T B & P dmei sl
TAFT & 1T Tsh AFAT HT G FA LE B

HAAT:

1. ST @Y STt 3 G & A el AT AT AT $H IR daret
# T B

2. NITOEROT HATTAF AFAT HA F ATRDT HI GRATT A T L

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The highway authority had announced that it will be undertaking a major road repair work
for three days beginning Friday between Bangalore and Tumkur.

Assumption:
1. People need to plan accordingly for their trip between Bangalore and Tumkur.

2. The authority is troubling citizens with unnecessary repair work.




Ans

xl_uﬁrzaﬁa”rﬁﬁ%?r%

Both 1 and 2 are implicit
haol HFATT 2 AT &
X 2 2
Only assumption 2 is implicit
Fad A 1 fafka &
3.

Only assumption 1 is implicit

x4_aaT13ﬁTH€r2ﬁ%?-r%

Neither 1 nor 2 is implicit

v

Q2% o, H FET Fr gfaera AT Faer 2 & -

Ans

The percentage of carbon in CO; is:
V1273
X214
X312
X 4 44

Q.27 X & 7 ¥ 124 ¥& off| PR Fam # o & For WA 16 off & X Fr A=

Ans

¥ 7 3 e
X’s rank was 12 from the top. If the total number of students in the class was 16, then X’s
rank from the bottom of the class is:

V15
X286
X327
X4

Q.28 myfas A AR H, Ha F & aadt F s T Alg € 2

Ans

In the modern periodic table, which of the two periods contain 8 elements each?
g2 3k3
2and3
x o 1312
1and 2
x5 4 3k s
4and 5
x a3 3kka

3and 4




Q.29 3R HHfaal (Answer Figures) H & weal fge & T WX 3T dTell Her
A et

Problem Figure

— A .
N[EE[?
Answer Figures

ale

PCIL

| ¥
3 a4

Choose the correct figure from the answer figures that replaces the question mark.
Pro_blem Figure
N[ gB[?
Answer Figures
RIS|Al6
| 9
1
Ans x 1. 3
X2 4
V2
X 4 1

Q.30 IfY el Rorwer & Hrem freAw orer T F aRafdd & e &, & s§H pH
TR gt @ & gstaer 2 ¥

If a solution turns blue litmus red, its pH is likely to be:
Ans x 1.9
X217
v:6
X438

Q31 ey Rw a1v Fepedl # ¥ WO 2eg &1 I3 FL

PUNE : SXQF : CITY :

Select the related letters from the given alternatives:

PUNE:SXQF : CITY:
Ans X 1 EKVZ
X 2. FLXZ
X 3. GMVZ
v 4« FLWZ




Q.32

Ans

50 T
45
45

40
35 35

35

30

25 -
NE B E i

] 2

15 = = B
|

10 = B s
\

s U ani
\

0

jan feb mar apr may jun

jan- Seradr feb- wIET mar- #=T
apr- 3T may- #AS Jun- S
fe@m s o X AT # A 2017 F 6 A F A% Geheor AR F AEar
& (F9IR #) g2 g

Al AME A, Tge FE AFF (3) F AN g FEA; FA ATl (FrA) F
gl F

T aIT 3T F HUR R, A 2017 F 95+ F HfARTFT Tofpad gt
T A R

50 T
45

45

40
35 35

35
30 2

25

jan feb mar apr may jun

The given graph shows the registration of bikes and total vehicles (in thousands) for 6
months in 2017 in City X.

Note: In the chart, the first number represents bikes (grey) and the second number
represents total vehicles (black).

Based on the given data, in March 2017, the number of vehicles other than bikes
registered is:

< 1.9000

~ 211000
v 310000
X 415000

Q.33

e Bsor F Y@ R o=l F s 7 8 ¥ ey ol sk die @
g 6:7 31 s F Y@ 3R dee &1 s w2

The ratio of sand to gravel in a mixture is 7 : 8 while that between gravel and cement is 6 :
7. What is the ratio of sand to cement in the mixture?

Ans X117 .7
X28:6
v33:4
X449 : 48
Q.34 F UG F T F T F AH T off FAT ST B
is known as India's Spice Garden.
Ans

T

- Kerala
TEATA

2.
Rajasthan
X s FaATCH
Karnataka
HGISE
Mabharashtra

v

X 4




Q.35 TH & Ryar & 37 TH & 37 H A ¢l 8 A vgA TA F Ry Fr 37 wWH
& 37 ¥ 2.5 T ofl T H TGAE 37 R 2

Ram’s father is twice as old as Ram is. Eight years ago the age of Ram’s father was 2.5
times his age. What is Ram’s current age?

Ans
X1 25 I§
25 years

,23 a8
23 years

24 =9
24 years

2299
22 years

X

v

X

Q.36 20kg $R H & I&F H 2m I 5 TF 3SR A §| 38 IFG T
TEETHIUT F G@RT AT AT FE e gew ?

(AT oF g =10 m/s?)
An object weighing 20 kg is raised through a height of 2 m. What will be the work done
by the force of gravity in this process?

(Take g = 10 m/s?)
Ans 40 ST
XL o

407
100 et
2. N

1007
400 Sfef
3. N

4007
50 et
4. a

507

7 3T HTFAISS HTHAN T &I &:
Non-metal oxides are usually:

Ans x . m

basic

xz_s*amﬁf

amphoteric
T
acidic
3T
neutral

v &)

X 4

Q.38 3nf¥e wHaT 2017-18 F 3IHFER, A F W W 3c0E (GDP) # Far &
F gfererd aree Fafaf@a & @ e @ & g gem?

As per Economic survey 2017-18, the percentage contribution of the Services Sector to
India’s GDP will be in the range of:

Ans X1 30-40% & =1
Between 30-40%
N 40-50% & &=r

Between 40-50%

X




N 30% & FH
Less than 30%

, 50% & Hfer
Greater than 50%

X

v

Q.39

Ans

T F e dF 7 600 g FH AT FAT TrEw 3@ 8% iy A F+
TTURUT 1= STod AT &1 afE T & 5 st g% 3 & uawfr #r w@r ar 3
S & T F Faen afRr ureq gehe?

Rahi deposited T600 in a bank that promised 8% simple interest per annum. If Rahi kept
the money with the bank for 5 years, she will earn an interest of :

X 13480
v 2 2240
X 33200
X 4. 3280

Q.40

Ans

TR FETAN ST Feg & FROT IeTS AT F FieT F Frererwsm
& & g & H TF 39T FIET I57 42

Which assembly constituency within Chennai city was forced to have a recent by-election
because of the death of then Chief Minister Jayalalithaa?

: e

Saidapet

v &*. TR
RK Nagar

X 3 <

Thousand Lights

TIATRH
X 4 2

Royapuram

X1

Q.41

Ans

SFCaTeere fahgehr 9fshar g7
Implantation is the process of:

X v
ATAT F 2T & 3T Tk T== FT St

the development of a child inside the mother’s body
| S0T AR gy ciroT & farehra
developing an embryo and its nourishment

v &
TeF; I F ST & FIAAST T 3l

attachment of zygote to the lining of a uterus
X 4
HTAT F T B T & JTeTH J 9Ivor

nutrition from mother’s blood through placenta

X

Q.42

Ans

11111 Fravg:

The square of 11111 is:
v 1123454321




X 21234321
X 31223311
X 4321231

Q.43 5w 9 fd=ar (St 91 & TSAar §41) F 2017 F fheahay TEwRa
Friafe qTERR WTed §3T?
Which Indian actor-turned-politician won the 2017 Filmfare Lifetime Achievement
Award?

Ans 1 e @=ar
Vinod Khanna

X 2 uﬁa
Dharmendra
e fa=gr

3.

Shatrughan Sinha

x ,, HATE Tt

Amitabh Bachchan

v

0% Crafaf@a # & Fid T v TueiRE R
Which of the following is a Pythagorean triplet?
Ans X' 1235
X 279,11
v 38,1517
X 4.17.21,29

Q.45 A 7T Fuat # T A 3 A Aoy A F R W FEEI F T
AT w9 & FiT @ forwd S o1 o #

FUT:
Tl o Fofaar § FS o Aol T & 2

o

1. 35 st WT A G B
2. #S ofr s T w7 F

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the statements.

Statements:

All sharks are fish. No fish is a snake.

Conclusions:

1. No snake is a shark.
2. No shark is a snake.

Ans o 3R 2 At T F B
Both 1 and 2 follow.

xz_;r?frmﬁt:r@rzwgamm%l

Neither 1 nor 2 follows.




| et frHY 2 T FI B
Only conclusion 2 follows.

Pt TS 1 3rgater FY B

Only conclusion 1 follows.

X

X

Q.46 A, B3R C e fFdr #1&7 &1 10 AT # Fa™T #¢ &3 &1 A3k B e
= F F 12 R F gAcg a €, sl B iR ¢ v @y e gl e
20 et & g e 1 oy B awher 5@ F A A A 3N FH F W F&
# foraer foe e
A, B and C can complete a task together in 10 days. A and B would need 12 days if only

the two of them worked, while B and C would take 20 days if only the two of them
worked. If B worked alone, how many days would she take to complete the task?

Ans X122
X 245
vz 30
X 420

Q47 eIt #r MY THTT A W ot 3cge=T BT &

Alan flame is produced when the oxygen supply is sufficient.

Ans x . B—ﬂ-

green
orange

sAreir

blue

x o

red

X2

v

Q48 syrig TS T ba ST (SfS B S¥o b 6 Hebe|

R19: AIF =S T: =T

Select the missing term based on the given related pair of words.

:Hand :: Sole : Foot

Ans X1 3{2[.
Nail
X 2
Finger
«.3 PO
Palm
X 4 I | ii
Wrist
Q49 — 7 Tl ot A T A T B ofr A s aw e Question ID : 9864492095

The founded the first city of Delhi and named it Indraprastha.




Ans Jl. q.igai.

Pandavas

TSt
X2 2

Mughals

X3
Portuguese

it

Kauravas

X 4

Q.50 7 & fF e Rt & ¥ uds & FEAW FE vh T wgfed gl & 39
fa@eT &1 I H o T C & U 7w weay Ree (?) # aga Tl ¢

A B C
Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

ans X147
X235

X345
v 37

Q51 ABC$+#DEF&=2GHI12+@
IRIFT 3ofhA & IR W A7 dcd 9 & a9haT B

ADG : +=2 = CEl :
ABCS$+#DEF&=?GHI2*@
From the above sequence find the missing term.
ADG :+=2 :: CEIL:
Ans  of 1. D?@
X 2 D@?
X 2 E?2@
X 4« E@?




Q.52

Distribution of various Minerals in Human Body
Sodium
%

9%
Potasiut

0%
Calcium

5%
Iron

18% Magnesium

aCakium  ® Magnesum » kon = Potasium = Sodium

Distribution of various minerals in the human body- AT iR # fffe=
e @1 faavor

Calcium- Fforrs
Magnesium- F7eiRaa
Iron- &gr

Potassium- @R
Sodium- wifsTT

Ram arr % AT adR # wiFst @ A A R §

R T 3w F HUR W, AT R F g Fa@ 3w gfoera AR g@x
TEH FA R a1 U F IS F= T 82

Distribution of various Minerals in Human Body
Sodium
L

9%
Potasiut
ao%
Calcium
5%
Iron

18% Magnesium

aCakiom ®Magnesum + kon ® Potasium Sodium

The given graph shows the distribution of minerals in the human body.

Based on the given data, what is the ratio of the metal with the second highest percentage
of distribution to that with the second lowest percentage of distribution in the human
body?

Ans 1.4 ;1
X23:1
X31:2
va+2:1
Q.53 311 3R 31T W P Y HAR: 6 3 7 R F o o we §1 Ay ¥ @At
Aot F1 Ta &, & 3 T T 780 AT Y § | 5 U 7 35 AT oy
I
Arjun and Anurag complete a job in 6 days and 7 days respectively. They worked together
and earned a total of T 780. Find Arjuns’s share in this amount in I?
Ans X 1490
v 2420
X 3560
X< 4350
Q.54 TuE g@ERT 12 sl # s st 3% 24 ¥ e F 3 aF 23 wa
3 9o T § AfF 30 Fawr 9 Wee & § o v wlem 0 A @
3% fow ore §, A Jaer # A & Shemt F @, G A FH F FA
e 37 T Tod A g, alfeh 98 VT & T 1 Hwaen we H
At a1 TH?
The average marks obtained by Raghav in 12 tests is 24. Zubeida has maintained an
average of 23 so far but has taken only 9 of the tests. If each test is out of 30, at least how
much must Zubeida score in any one of the remaining three tests to still have a chance to
match Raghav’s performance?
Ans x .20




X219
X322
Vv 4 21

%5 Frell TATT # 37Tl arel W =T &l o |

&

N
L

Fill in the missing space with the correct figure.

R &
N
Loy

Ans xlA
X2C
vaD
X4B

Q56 fory gulte eafda & ‘T FAGLTS qNT° AHS Teaidh Tordl 87
Which celebrity is the author of the book ‘An Unsuitable Boy’?
Ans ud -
TREd
X2 g
Khuswant Singh
et T
2,
Shatrughan Sinha
v C 12y
Karan Johar
x4 IS ZCREIC )
Shah Rukh Khan

X

Q.57 Rl 3 TR & 30 MR T UF $ART & HUR & A7 Hior 30° gl e
Fr F=$ rae 22
The angle of depression of the foot of a building from the top of a tower 30 m away is 30°.
How high is the tower?




Ans 1 203 #HrEX

20v3m
x2_3omar
30m
x3_2034’|a'
20m
, 1043 #Hex

10V3 m

v

Q.58 2018 ¥, Rreafie@rer e 3mART (FS.H) F IremeT Fia g2

As of 2018, who is the Chairman of the University Grants Commission (UGC)?

Ans lem

Anil Sahasrabudhe
ASTAT Ao

2.
Najma Heptulla

x 5 ANF. BREE
V.K. Saraswat

e g 4. fag

D.P. Singh

X

Q.59 3 TF I THEA Jedld T 3ce HA § @ eATed J § B @
Rafdea ger &2
Which of the following changes when a body performs uniform circular motion?

Ans m’
X1
Momentum

2 atfer
Speed

SUATA
Mass
v feram

Direction

X3

Q.60 1T Fr TAAT 3H 3W H TAAA 37 F 1.5 T ¥ 3 A FA gl 12 T Tger
39T Y 3H VoA Y 3H F 3T F 3 ¥ AT of QoA T TIAH 3H T 82

Roshan’s current age is three years less than 1.5 times that of Usha’s. 12 years ago Usha’s
age was three years more than half of Roshan’s age. What is Roshan’s present age in
years?

Ans X133
X 239
v 42
X 430

Q.61 FAT ¥ U Yeks §uz TR Fr I Ty Ik 16% oMy St fomaml afy
3E TG & T 1,500 F @ler o o FES 3@ a7 =

Qamar gained 16% on the resale of a used stereo. If he purchased the item for ¥ 1,500,
how much did he sell it for?

Ans o' 1.F 1,740
X 231,820




X 3. T 1,660
X 4 T 1,600

Q.62 Fua W e AR FY 3k v T fF sw A R Fia o A
fafea & &

FUT:
IFAT A TN T F FgT, "IRES A ToT T FEH AT AT gl

g
1. e draer aer ghaae @ €
2. HFaT IRES FHN HITT T TAAT g 2

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

Akbar said to his queen, “Birbal is the wisest man in my kingdom.”

Assumption:
1. Akbar is not as wise as Birbal.
2. Akbar wants Birbal to become the next king.

Ans x1.1 AR 2 A=t fAfga &

Both 1 and 2 are implicit

Faor 3w 2 fafea &
2.

Only assumption 2 is implicit

xg_ar—ﬁ13ﬁta€rzm?r%

Neither 1 nor 2 is implicit
Faer g 1 AT ¥
4.

Only assumption 1 is implicit

X

v

Q63 e FART F ¥ frwhr 3enpa 3o widt 1T &2
Which of the following animals has a comparatively longer intestine?
SHedl
X1”
Dog
Elic)
2.
Tiger
vz G
Rabbit
CICE]

Fox

Ans

X 4

Q.64 2016 F wefiia g, frafaf@a # ¥ i @ Jgeh FoaT fewr & oy 100
Fg H FAE & ST H 97 Far 2

Released in 2016, which of the following is the first Malayalam movie to cross the 100-
crore revenue mark?

Ans xlimagmﬂaﬁr

Oru Vadakkan Selfie

- gforHeTT
J 2. 2 2
Pulimurugan

Par=y

Premam

X 3




. RAA
' Drishyam

Q% g3er Fir SHS FAT &

Ans

The unit of momentum is:
v 1 Kgms™!
X 2. Kgms™2
X 3 Kgms?
X 4 Kgms

Q.66 RT 7T o ¥ = &¢ 3 a7 F & PRy Fu=t & ¥ Ha-ar sy

Ans

T F 3R & & fow g §
14$20+8#4 T AT T 272

HYA:

1. $ & AT -, + FT ATCIT +, # F AT +
2. 14$20+8 = 25

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the value of 14$20*8#4?

Statements:

1. $ implies -, * implies +, # implies +
2. 14$20*%8 =25

X1
AT ®UF 2 AT § FafF FaeT FUT 1 qATT A&T &

Statement 2 alone is sufficient while statement 1 alone is insufficient
x o U1 3T 2 =T 9T §
Both statements 1 and 2 are sufficient
xs;ra’rmrrm qaieg § F FUA 2 &
Neither statement 1 or 2 is sufficient
v 23
AT FUF 1 AT § 6 Fad FUT 2 AT FaF &

Statement 1 alone is sufficient while statement 2 alone is insufficient

Q.67

Frt@a forr 3 Rt Foger 87

How many triangles are present in the following figure?




Ans X112
X216
X314
V15

Q.68 TH iF F IHUR & &FHA 641 T FERAET § FafF sHH fadr Fa5 17
FEAET ¥ 3T OF F B A go7 e F e B F Faw frar mw d)
T el Fr =2 Faar gem:

The area of the base of a cone is 641 cm? while its slant height is 17 cm. This cone is
remolded to obtain a solid sphere. The radius of this sphere will be:

Ans xlsmﬁaﬁm
8330 cm
Kzz%/%ﬁa-ma
2340 cm
2330 #@dHAeT
v 3
2330 cm
x . 6.5 WA

6.5cm

Q8 B Fra SPIFAES F FH AH T AT AT &
Solid carbon dioxide is known as:

Ans m a.ﬁ;

wet ice
| T

gas ice
o, O

solid ice

X

Q.70 9T A 3k C fFdr @relr & #r Haer: 32 3K 48 wel # & WHa &,
aIET B #Y gT &F Y 24 0 F Wk FT T §1 A A s B g
QT @ AT & & 2/3 s F A " e
Pipes A and C can fill an empty cistern in 32 and 48 hours, respectively while Pipe B can
drain the filled cistern in 24 hours. If the three pipes are turned on together when the

cistern is empty, how many hours will it take for the cistern to be % full?

ans X 1.96
X248
X372
v 64

Q.71 sy HrerRoT A AT & T W S el 22 awt 3F 3 300 & Sl B
aRIT awfer = g2

At 8% simple interest per annum a sum of money becomes ¥ 300 in 2% years. What was
the sum invested?

Ans - X 1.% 240
X 23275
X 3.T260




v 4.T250

Q.72 a7 & ¥ Fia @1 a7 IN@ FFafaf@ad Feit &1 TE o1 ¥ ufafAfed Har

Ans

&

e, Ry, sfeex

Which of the following Venn diagrams correctly represents the following classes:

Men, Fathers, Doctors

XL

v

BEEC

X 4

Q73 A T HRA R T AT IR AR v AT F A e FRm d @

Ans

ARTT &7 T Fia ¥ ey @ewer o1 T B

FYA:
Tt & @ A FE AT g AT F B gl F W @

forsd:

1. TN HRE B aat A s g @ g
2. ¥t AR aifat & Few aREga dant F i @ @l

Consider the given statement to be true and decide which of the given conclusions can
definitely be drawn from the statement.

Statement:

Many people living in villages relocate to cities for a better future.

Conclusions:

1. Government officers should have compulsory
rural posting.
2. Increase more transport facilities between cities and villages.

oo fhy 2 HeTEROT HI g

Only conclusion 2 follows.

1 3R 2 gt HgEor = El
Both 1 and 2 follow.

| et Iy 1 T FI B

Only conclusion 1 follows.

X1

X

X




‘,4;?&13ﬂ1:r€r234§wm%l

Neither 1 nor 2 follows.

" Nad Tue A TEE 39gad faFew o |
18 Aree = x3 3EH |

Fill in the blank with the most appropriate option.

18 volts = x3 ohms.
Ans X1 6 dic
6 watts

‘,2'6 :

6 amperes

x3.6 :

6 milliamperes

6 ol
Xa o ©

6 joules

7 fET T HTHA F A UG fakeut ¥ A

Y-25, W-23, U-21, S-19, ?

Select the term missing from the given series.

Y-25, W-23, U-21. $-19, 2
ans X 1 P-16

v 2 Q-17

X5 Q-10

X+ 3-8






